(5E3) [IKEFEEREESTRO, 3—TO/VRILEY)

PR ODMEREBEOER | pmzonss-Eug ) SHRMDE () 5 S B (T )
DIFROIR K| OFRR | ouw |onxsy| onE (0ERBuOsmEL| ORE |(DERBL OXBEX b7 ——Ba=kCe Uk (BB 1078
X2 1=V F 15 X2 =YFEH | YT X2 =UFE | FzUFy ~20hr 21~ |51~100]101hr~ |3 T4 T4
33 F=.BHE.FA.KRA 2 3 66 330 3.2 1.6 0.05 3.2 16 0.05|02({thDHFNIFD R EZBHELI-IRBELTORER) X MEE 30 15.0 0.5
RIEINDTDEZE (50%)
34 HLTYLG i R 1 3 19 19.0 0.0 0.0 0.00 0.0 0.0 0.00(03 (B AIZENHEREEZRESE . NIESEAHIEXFEREL- lIEEL T, X |35 30 30.0 16
BRI DIEE (50%) (XLEH], AT, ELF, HRE ZLEH. A EH. 2EF. NRFEDR
MAFIELTOER)SEE
=K1 (%)2 6 85 3.2 3.2 100% 60
(64E3£)
DK HEREKR WREEFERIKRT ALK QEE
DIEEDIESE BRRESE|DviaT |[2FBRSE |74 BHLARR [BhEVYRY |REXK RERE |REFE |LL ZDith [ MR wAK SR |50°Ck# [50°CLL  [100°CLL
B L B 7 F100°C | £
i
33 ST=.BEE.FAEBA 2% 1EZX 1EZXE 11EZ% 11EZ% 3MEX 3MEX VAYES 1% 31Ex
RILIN T DEE
34 TG o i [31EE RY(ES RY(ES RGES 2% RY(ES
BRI DIEE
&t 83% 17% 17% 17% 17% 100% 100% 50% 50% 100%
(51E2%) (1/E%) (1/E3%) (11E%) (11E%) (61E3£) (6/E3£) (31E%) (34E%) (6/E3£)

X1 N FBESTERDIEEETO>TWAEEEEELTHADUNLTWAD T, EEOFEEHZHIYZG-oTLNS, I-1L. BEHRIIEEXIZH
%2 B—DHEEXFERNECERDIFEEICEELTHIOUIIENEEELRHAD T, EEOFHEBEHNIIHANEDELYZRBEL>TLIIEELHS,
3 O—K1: 1085 O—K2: 3585 O—K3: 758505 . O—K4: 125855 &L CTEH




